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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.
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ACCOUNTANCY

Freifie w7 : 3 52 ] [ sifiram 3% - 80
Time allowed : 3 hours | [ Maximum marks : 80
W e :

(i) TEHTH-UF AT G E [T & - & @R T
(i) 9T % Y Tl % o i & :

(iti) TR 1 9T 4T & ST @ FE AT 5T FAE

(iv) T g97 & T4 9T & 3T U & T 9 Ay |
General Instructions :

(i) This question paper contains three parts A, B and C.

(i)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
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HIT -
PART - A

(FAATHHRT FTST, AR GHI G947 BT % [0 or@ieh)

(Accounting for Not-For-Profit Organisations, Partnership Firms and Companies)

67/1/1

Ueh SATHHRI TS gRT 3TN YR W S-S diet forid faa)oT sl 911 SamE |

Name the financial statement prepared by a Not-For-Profit Organisation on accrual
basis.

U UERR gRT & TS Qe & i & faug § R geert stutEy & wedE &
Iooig HIT |

State the provisions of Indian Partnership Act regarding the payment of remuneration
to a partner for the services rendered.

FEHIYT UEUT i G Ueh WEER ©A1d & {9 3797 &1 USR] 81 € 2

For which share of Goodwill a partner is entitled at the time of his retirement ?

T FH & TS & (66l &1 STaadl &l 3e01@ ST |

State any two occasions on which a firm can be reconstituted.

Tl SSTR | 39 S ROTTAT o IMET T i T o Fared |

Give any one advantage for the redemption of debentures by purchase in the open
market ?

frafafad ga=r ¥ 31-3-2011 Ht TH §C 99 & 60 9= @ U I 6, T & T §
3ifepa A F fow, TomAT HifeT |

99 2010-2011 H U I=T - T 3,40,000
31-3-2011 =t & °=T T 47,000
31-3-2011 i 30 wred ==1 ¥ 35,000
1-4-2010 it 3T =T 2 7 Rn284000.
1-4-2010 B s T == T IR

From the following information, calculate the amount of income from subscriptions
to be shown in the Income and Expenditure Account for the year ended 31-3-2011 :

Subscriptions received during the year 2010-2011 3 3,40,000

Subscriptions outstanding as on 31-3-2011 T 47,000

Subscriptions received in advance as on 31-3-2011 T 35,000

Subscriptions outstanding as on 1-4-2010 3T 28,000

Subscriptions received in advance as on 1-4-2010 < 25,000
2



7. s e 3 e o @ T 10,00,000 & W 1 5T fHAT 1 37 AR F 10% T T e,
1 UF A% F gR1 A T | 9 AR H P T 10 TAF F GHar 3, B 10% F g
¥ foifire feman am an, % gy e | 3

I fe1. it gt | STravass AsHmEn Afafedr St |

Jain Ltd. purchased Building for ¥ 10,00,000 from Gupta Ltd. 10% of the payable
amount was paid by a cheque drawn in favour of Gupta Ltd. The balance was paid by
issue of Equity Shares of ¥ 10 each at a discount of 10%.

Pass necessary Journal Entries in the books of Jain Ltd.

8.  ARMY weHt i A T 100 Wed® & 7500, 12% o1, 5% T 35 ucdier & Hitgaw o i
AT o, F T emmae St fhu | qot i 1 A AeE 9T A a1 | 3

FA 10,000 0T F oA 3 WISt U 1 2500 SO0 % AT e 6 F H T T
AT 3TEE T A9 HT S TE | 19 3MASH! Bl /OIS T & HT I&ar 74T |

SRIT ATl & AT TRIEF0 A o, 6t Trepl B A= niafedt i |

Narain Laxmi Ltd. invited applications for issuing 7500, 12% Debentures of ¥ 100
each at a premium of ¥ 35 per Debenture. The full amount was payable on application.

Applications were received for 10,000 Debentures. Applications for 2500 Debentures
were rejected and the application money was refunded. Debentures were allotted to
the remaining applicants.

Pass necessary Journal Entries for the above transactions in the books of Narain
Laxmi Ltd.

9.  3THVT T SIS UF W § WIHKR & 51 5 : 3 & AU | oy &red o | 1.4.2010 I ST
Tt it 1 WehR et ;31907 % 60,000 TIT 3WIST T 80,000 | 314 uit U 12% Wfer o =
T W A 3 1 SN W 15% fet a4 i 3§ =T o071 &1 017 6 1 31-3-2011 =
IO §C 99 & T SWia Tt WHESE € 96 5 H A9 T 12,600 91 | 99 % SRE
37T 5 3MEIT T 2,000 TFAT ST & T 4,000 & | STE0T 4T 3AST & 1 1A e @
AR AT AT 7T TUMAIST 1 I ST | BH F 710 &1+ 5l 590 | o o ¥ =71 fea
sm B
Arun and Arora were partners in a firm sharing profits in the ratio of 5 : 3. Their
fixed capitals on 1-4-2010 were : Arun T 60,000 and Arora ¥ 80,000. They agreed to
allow interest on capital @ 12% p.a. and to charge on drawings @ 15% p.a. The
profit of the firm for the year ended 31-3-2011 before all above adjustments were
¥ 12,600. The drawings made by Arun were ¥ 2,000 and by Arora ¥ 4,000 during the
year. Prepare Profit and Loss Appropriation Account of Arun and Arora. Show your

calculations clearly. The interest on capital will be allowed even if the firm incurs
loss.

67/1/1 3 [P.T.O.



10.

1L

12.

67/1/1

oA, ofiw T THeT WHGR & S o H S 14 ¢ 5 ;6 % I § o #d €
iﬂqmmwdl%ﬁw«qﬂwﬂiaﬁ%aﬁ?%Wﬁmﬁ%i@l’f’r‘('ﬂ@ﬁﬁ'
e % 2 a9 % T & IO W fwar SIar & et T e O 9t & oid o
W St & | se 9 a6l % e $HE9 T 50,000, T 55,000 €T T 60,000 € | HHE &9
I 3= I H WHFT o T 30,000 TG & | HH H TR § @G H 9T Ted | &
% 75,000 3T & | 9T % SFSH WA H o & 1€ B H TGH 99 H o T 1,00,000 F |
YT TS St e gT HH i el | SAa % GHESH a1 @ faawor it savas
Aot wfaftedt i |

Arjun, Bhim and Nakul are partners sharing profits & losses in the ratio of 14 : 5: 6
respectively. Bhim retires and surrenders his 5/25™ share in favour of Arjun. The
goodwill of the firm is valued at 2 years purchase of super profits based on average
profits of last 3 years. The profits for the last 3 years are ¥ 50,000, ¥ 55,000 &
% 60,000 respectively. The normal profits for the similar firm are ¥ 30,000. Goodwill
already appears in the books of the firm at ¥ 75,000. The profit for the first year after
Bhim’s retirement was I 1,00,000. Give the necessary Journal Entries to adjust
Goodwill and distribute profits showing your workings.

vifert fef. F 797 T 100 URF & 750, 12% OO % O S fAoi ferar | e F 500
FOTT T 4 T 94 Ui 0T Bl T W Gl IR W A1 | 99 T H e A A @
forar T | SO A T O W B BT SRS ST [l § qoad & {ohar g3 € |

YT AAAl o 1T FHEHT 1 TEAHI | SEvdeh Tl raredr ity |

Shakti Ltd decided to redeem its 750, 12% Debentures of ¥ 100 each. The company
purchased 500 Debentures at ¥ 94 per Debenture from the open market. The
remaining debentures were redeemed out of profits. The company had already made
a provision for Debenture Redemption Reserve in its books.

Pass necessary Journal Entries in the books of the company for the above
transactions.

frfefaa et & foe gev fa. = qwasl # savas s wfaftedt S

() T 75 U=F & 750, 12% RIS 1 YA 2 100%%%3@&1}&3%3%
feam mar |mmmﬁ$r10%a?a§wﬁnﬁﬁﬁﬂmwm .

(i) ¥ 1,000 AF F 550, 12% ROTTH H 74 T 100%&713%%311%%%3-
T | T2 O T 10% o 3Afaemsy W it foar |

Pass necessary Journal Entries for the following transactions in the books of
Sudarshan Ltd.

(1) Redeemed 750, 12% Debentures of ¥ 75 each by converting into Equity Shares
of ¥ 100 each. The Equity Shares were issued at a discount of 10%.

(i) Converted 550, 12% Debentures of ¥ 1,000 each into New 13% Debentures of
T 100 each. The New Debentures were issued at a premium of 10%.

4



13.

67/1/1

AT TN YT WEER S a0 3 ;1 % U H A died o | 31-3-2011 H 3w i
feraor 7 weew o

31-3-2011 T TR TAqT IWT 7 (Rt faawor

St T ——— ain

z 3
St iy qer 9o 70,000
CL| 1,20,000 TR 60,000
i 80.000| 2,00,000 | 3&R 80,000
AR . 70,000 | 5% 60,000.
2,70,000 2,70,000

1-4-2011 T TH 3T FHIYA & 74T, T4 Hefodl Ud Sa1eal 1 H&RT H=ER g3
()  %50,000 % AR A i T YT H 319 316 F o7 FUer &G o fora |
(i) 9 AFERI 1 YA q6HS foham T |

(iii) HERT ST 30% & TEAE UT = T |

(iv) ITERI A T 500 H AN W TGEA H TTE |

(v) aget=ag¥1,7009 |

T % U & eI STrevges e wiatedr S |

Verma and Sharma were partners sharing profits in the ratio of 3 : 1. On 31-3-2011
their Balance Sheet was as follows :

Balance Sheet of Verma and Sharma as on 31-3-2011

Liabilities ATOTN Assets Amount

4 3
Capitals : Land and Building 70,000
Verma 1,20,000 Machinery 60,000
Sharma 80.,000| 2,00,000 | Debtors 80,000
Creditors 70,000 | Bank 60,000
2,70,000 2,70,000

The firm was dissolved on 1-4-2011 and the Assets and Liabilities were settled as
follows :

(i) Creditors of ¥ 50,000 took over Land and Building in full settlement of their
claim.

(i)) Remaining Creditors were paid in cash.

(iii) Machinery was sold at a depreciation of 30%.

(iv) Debtors were collected at a cost of ¥ 500.

(v) Expenses of realization were ¥ 1,700.

Pass necessary Journal Entries for dissolution of the firm.

3 [P.T.O.



14.

Receipts and Payments Account of ‘Green Delhi Club’ for the year ended 31-3-2011.

67/1/1

31-3-2011 %! G gC o4 & feaw oA feoelt o & Frefomad it & Jrae @ |
‘3T T FF @Al TR HIT

31-3-2011 %t HATA g a9 & forw o= faeett sora &1 it O et e

HH SHT
Y Ui 9 AT 13,200 | 969 (11 HEH 2,200
)
T 25,500 | fepeman 800
Ta Yeh 2,000
TH (Wad & faw T 1,000 | 3,000 | fasret 3,500
wftmferd)
BTet 1 foharan 2,500 | #X 2,600
favi =1 fosrg (T 3,500 | S e @yt 800
T € 4,000 EEsE 10,000
9% T STHT I 13,000
(31-1-2011)
Y A A ™ 16,800
49,700 49,700

From the following ‘Receipt and Payments Account’ of ‘Green Delhi Club’ for the

year ended 31-3-2011, prepare ‘Income and Expenditure Account’.

Dr. Cr.
Receipts Am;uﬁt Payments Am;unt
To Balance b/d 13,200 | By Salary (paid for 11 2,200
months)
To Subscriptions 25,500 | By Rent 800
To Entrance Fee 2,000
To Donations  (includes 3,000 | By Electricity 3,500
% 1,000 for Buildings)
To Hall Rent 2,500 | By Taxes 2,600
To Sale of Investments 3,500 | By Printing and 800
(Book value Stationery
T 4,000) By Books 10,000 |-
By 9% Fixed Deposits 13,000
(on 31-1-2011)
By Balance c/d 16,800
49,700 49,700




15. @ U T WEIGR & 99T 3 : 2 % S | o sted 9 | 31-3-2011 i 37 feafa feeror
= vy o
31 W 2011 Y @ qe 1 5 ferf frawor
. T _ TIfyr
Epcig wtaat
(4 4
it - ofiy T o 80,000
g 60,000 ENIE] 20,000
ap 40.000 1,00,000 | =R 10,000
o FOT & forw wrae 1,000 | &R 25,000
TTER 60,000 | TFg 16,000
A-BI @ 10,000
1,61,000 1,61,000
‘E‘ﬁﬁﬂ%@ﬁﬁ%WWW%%W%W@WWWW:
() o fonTrei @t = ST 2 ;2 ;1 e femar o
(i) = T 30,000 379 oIt & feArw @ e T 15,000 @i 3 37a ST % feAw A |
(iii) 399 | @A 1 2047 9771 39 WERR A e @@ e 307 A % 90T &0 Qe
“§H T | T on |
(iv) TARRI W gad T WiEry FOrast % T 5% 1 Wree S o9 |
(v) ORI ¥ |iferd T 500 #t T B S A 6l ST o |
(vi) wH % favg T 800 & U &1fd & 319 & feAw wrae e o |
ST FHRENH & W= @ q9 T F S @il S G9EeE 9 OIS % YR 0P
AT 9T, T [o1¢ IR STTER UHE 18 ST ST ST ST f5ar SR |
TR @I, WIHSRI % Yoft @It a1 78 G o1 [ faeior dar S |
: e
67/1/1 7
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S, ¥ T TE UH GH H WERR 9 S A 6 7:2:1 % 96 | fawitad s 41 31
AT, 2011 1 FH 1 T foreror e o

31 /i 2011 &t S, P AT ‘U’ W Ferta-faeror

aTRAt TN weafaat i
4 3

it = ' 40,000

i 70,000 iy 741 Jod 60,000

3 20,000 ENIEH 40,000

T 10,000 | 1,00,000 | =% 7,000

= 9 20,000 | 3&R 12,000

€ T AT _ 30,000 | TS 5,000
AR’R 14,000

1,64,000 1,64,000

24 3T 2011 Ft P B g & TE | o oft WERR F g W 3T T wiea o= it
<t % f9er & foe aERr gea ¥ fefatad weue @ ge e

@) WWﬁﬂ%ﬁ?ﬁWW%WﬁWﬁ@ﬁﬁ?ﬁ%aﬁﬂﬂm
& SR 9T Sl A 1 T 80,000 T |
(i) el % e T ARGl & ;MR § g |EER & o gl 6 S,
ﬁ}ﬁ'l-_-l'lﬂﬁﬂ%
fq T 9o H AHedwA I 94,000, WRIFRT 1 T 38,000 TUT WiE H

% 5,000 fwar mar |mﬂ@ﬁ$%ﬁﬂmﬁw2l%mamﬂmﬁmw |

(iti) Traer g s <€ & o i g7 of, Wﬁiﬂ@lﬁﬁmﬂﬁﬁaﬂ'ﬁﬂé STt
T 915§ fomam s |

e I, FRIGRI % Ui @, 9 % STRIushRl 1 @I a9r Si’ Ue “u%” i fefa

faator AR FifTe = 3T OoTt @ral St AT @ S § @ g¢ a9 S A, @A

=1 freag fomar & | st off orifierr an 5elt =t WEERI & =Te] @Al WIFIRG T &

S |
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‘B’ and ‘C’ were partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31-3-2011 was as follows :

Balance Sheet of B and C as on 31-3-2011

Amount Amount
Liabilities Assets

4 4
Capitals : Land and Building 80,000
‘B’ 60,000 Machinery 20,000
! _40.000 1,00,000 | Furniture 10,000
Provision for bad debts 1,000 | Debtors 25,000
Creditors 60,000 | Cash 16,000
Profit and Loss Account 10,000
1,61,000 1,61,000

‘D’ was admitted to the partnership for 1/5" share in the profits on the following
terms :

(1) © The new profit sharing ratio was decided as 2 : 2 : 1.
(i1) D will bring ¥ 30,000 as his capital and ¥ 15,000 for his share of goodwill.

(11) Half of goodwill amount was withdrawn by the partner who sacrificed his
share of profit in favour of ‘D’.

(iv) A provision of 5% for bad and doubtful debts was to be maintained.
(v) Anitem of ¥ 500 included in Sundry Creditors was not likely to be paid.
(vi) A provision of ¥ 800 was to be made for claims for damages against the firm.

After making the above adjustments the Capital Accounts of ‘B’ and ‘C’ were to be
adjusted on the basis of D’s Capital. Actual cash was to be brought in or to be pald
off as the case may be.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm.

OR

67/1/1 9 [P.T.O.



‘G’, ‘E’ and ‘F’ were partners in a firm sharing profits in the ratio of 7 : 2 : 1. The
Balance Sheet of the firm as on 31° March, 2011 was as follows :

Balance Sheet of ‘G’, ‘E’ and ‘F’ as on 31% March, 2011

Amount Amount
Liabilities Assets
4 ¢

Capitals : Goodwill 40,000
‘G’ 70,000 Land & Buildings 60,000
‘B’ 20,000 Machinery 40,000
2 _10.000 1,00,000 | Stock 7,000
General Reserve 20,000 | Debtors 12,000
Loan from ‘E’ 30,000 | Cash 5,000

Creditors 14,000
1,64,000 1,64,000

‘E’ died on 24" August 2011. Partnership deed provides for the settlement of claims
on the death of a partner in addition to his capital as under :

(i) The share of profit of deceased partner to be computed upto the date of death
on the basis of average profits of the past three years which was T 80,000.

(i) His share in profit/loss on revaluation of assets and re-assessment of liabilities
which were as follows :

Land and Buildings were revalued at ¥ 94,000, Machinery at ¥ 38,000 and
1

Stock at ¥ 5,000. A provision of 25 % was to be created on debtors for bad and

doubtful debts.

(111) The net amount payable to ‘E’s executors was transferred to his Loan Account,
to be paid later on. .

Prepare Revaluation Account, Partner’s Capital Accounts, E’s Executor A/c. and
Balance Sheet of ‘G’ and ‘F’ who decided to continue the business keeping their
capital balances in their new profit sharing ratio. Any surplus or deficit to be
transferred to current accounts of the partners.

. 67/1/1 10



16. wam fa. A T 10 9% & 80,000 FHaT 33 % A & fow sqeg" swt=a g | 3 S
i T 40 ufa 391 & ity w Foifaa s ar | ufn & g e TR E S 8
3meeT W T 35 i 3w (T 30 withaw |imte)
e W T 8 ufa 3991 (T 4 Wiy |imte)

I Ue Hf<q AT W — Y

77,000 39 & feAw AR Wit gU | Wt SRR Hi S H e H A T | /A,
R 7,000 3 T e AT T 91, 7 S AR H SPTEE T A | e & qe
v 39% U I SFed H foran M1 | AU W e sf<ag e w5l T | 6o,
f5Tae T 500 3% &, 3 vHW Ud AT A=A B I AR AT | SHSE A w6 o S
o forar w1 s TR T s F @ 1,000 ST # T 50 U S @ W W P uEH I
ot o T | o Fifir fond 2t sfent & W o @t st wiEfea 4

v 1. S sl B SIS ST o (61T Tavash UsHIHEn Afafeat Hitg |

Yar

S A 3 T 10 vEE F 35,000 FHAT 39 B 10% F S W iHT = F AU emEeT
= feT | it 1 Sae = UeR 9 ST o

e W T 5 Ul 3w
3reed T ¥ 3 uia 39

T T 3T IrEET O — 9y

50,000 39 & foTT 3TagT et g | 8,000 39 F feqw sl ® T H A @ qw =
JATH I AT TR A9H T 3 TE | Y SATH! i S0 BT e SIIAF 3R TR
TR T T 3 SAORRN W ESH WU AR TR 1 GHEISH e W ST [T §
F o mar | Sie 600 3 F fAT SmeRa fRar or | SR e A a9r vuw ue
A9 FreET TRT 6T PIAF AT ha1 | 76, S 400 90 1 URF o1, 7 W9 T =0
AT T T PIA &l B | SHa T Feli o 3790 1 ST X foran T | 5 5 T
3iwit @ 800 379t @ T 15wl 3iwr gl wew g P e fear '

g Frifia fofd T ofeil | e & W i Wit 9 | ST Sl % A S
f&1. ot Teht | STravae ASHHET Watedr iy |

67/1/1 11 [P.T.O.
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Shyam Ltd invited applications for issuing 80,000 Equity Shares of ¥ 10 each at a
premium of ¥ 40 per share. The amount was payable as follows :

On Application ¥ 35 per share (including ¥ 30 Premium)
On Allotment ¥ 8 per share (including ¥ 4 Premium)
On First and Final Call — Balance

Applications for 77,000 shares were received. Shares were allotted to all the
applicants. Sundram to whom 7,000 shares were allotted failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the first
and final call was made. Satyam the holder of 500 shares failed to pay the first and
final call. His shares were also forfeited. Out of the forfeited shares 1,000 shares
were re-issued at ¥ 50 per share fully paid up. The re-issued shares included all the
shares of Satyam.

Pass necessary Journal Entries for the above transactions in the books of Shyam Ltd.
OR

Jain Ltd. invited applications for issuing 35,000 Equity Shares of ¥ 10 each at a
discount of 10%. The amount was payable as follows :

On Application T 5 per share.
On Allotment ¥ 3 per share
On First and Final Call — Balance

Applications for 50,000 shares were received. Applications for 8,000 shares were
rejected and the application money of these applicants was refunded. Shares were
allotted on pro-rata basis to the remaining applicants and the excess money received
with applications from these applicants was adjusted towards sums due on allotment.
Jeevan who had applied for 600 shares failed to pay allotment and first and final call
money. Naveen the holder of 400 shares failed to pay first and final call money.
Shares of Jeevan and Naveen were forfeited. Of the forfeited 800 shares were
re-issued at I 15 per share fully paid up. The re-issued shares included all the shares
of Naveen.

Pass necessary Journal Entries for the above transactions in the books of Jain Ltd.

T -9
PART -B
(Freiter oot =1 frgersom)

(Financial Statements Analysis)

FURTATEA % U T faeront & favetuor & e =1 Seei HiT |
State the significance of Analysis of Financial Statements to the ‘Lenders’.
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18. Vg VaTE faaror sAM & 3299 Ay | . 1

State the purpose of preparing a ‘Cash Flow Statement’.

19. ‘% fawe FE G TOTE % AR & AT TR e S Uwe A ferer s
e g w6t fafaty &1 s 2 1

While preparing Cash Flow Statement what type of activity is, ‘Payment of Cash to

‘acquire Debentures by an Investment company’ ?

20. 3ftum. fer. 1 ] 3 3.5 ¢ 1 9T aReAan oFU 2 ¢ 1 ¥ | afs =ik gy wfatafae @t
TR TTe] Tl e Tl St 6 3R T 1,50,000 ¥ =] gt a9
3T Y AT AT | 3

O.M. Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the excess of
Current Assets over Quick Assets as represented by Stock is ¥ 1,50,000, calculate
Current Assets and Current Liabilities.

21. Frefafes ger @ frefefea § @ B at st i o S 4
(F)  FOTTEA S
(@) Y Goft S ST ae
) IREC LR T I

WEAT ;. WHAT S G T 50,000 ; WA I T 5,000 ; TTH-EN WA AN W W H
T & % T 15,000 ; 9% FOTGH T 20,000 ; SRR T 15,000 ; qH 7€ TG T 65,000
I ¥ 15,000 ; S8R T 14,500 71 Wb ¥ 5,500 ; {90 & Frie= T 721 T 5,000 |

31-3-2011 I YHIA §T 99 & fore fasha T 1,50,000 &1, T 5T 50% |

From the following information, calculate any two of the following ratios :
(a) Debt-Equity Ratio

(b) Working Capital Turnover Ratio and

(c) Return on Investment

Information : Equity Share Capital ¥ 50,000, General Reserve T 5,000; Profit and
Loss Account after tax and interest ¥ 15,000; 9% Debentures I 20,000; Creditors
T 15,000; Land and Building ¥ 65,000; Equipments ¥ 15,000; Debtors ¥ 14,500 and
Cash ¥ 5,500. Discount on issue of shares T 5,000.

Sales for the year ended 31-3-2011 was % 1,50,000. Tax rate 50%.

67/1/1 13 [P.T.O.



22. 31-3-2011 t =1 &, 1 377 feramon Fomt v o
o T
3
A
ICER] 2,00,000
3 A 15,000
A A™T 2,15,000
2R
I T WA AT 1,10,000
PRl R 5,000
P AT 1,15,000
ETa 40,000 .
31-3-2011 ! QAT §T a9 & forq T1 . 61 Q= Simepr 1 37 foreor oam iy |
Following is the Income Statement of Raj Ltd. for the year ended 31-3-2011 :
Particulars ATIERL
3
Income :
Sales 2,00,000
Other Incomes 15,000
Total Income 2,15,000
Expenses :
Cost of goods sold 1,10,000
Operating expenses 5,000
Total Expenses 1,15,000
Tax 40,000
Prepai‘c a common size Income Statement of Raj Ltd. for the year ended 31-3-2011.
67/1/1 14




23. 31-3-2010 T 31-3-2011 T Fi fet. o Fretferfian et fererott & b wate formor AR

I : 6
g 31-3-2010 31-3-2011 . 31-3-2010 | 31-3-2011
z 4 4 4
T 39 ISt 1,00,000{ 1,50,000 | v 12,500 11,250
To 1,50,000| 1,50,000
AT @ 25,000 50,000 |FFeer - 18,750
IR 50,000 63,750
ek 0T 50,000| 25,000 | %% 2,500 3,750
TREATTer AR 20,000|  15,000|THE 5,000 21,250
HT T 10,000, 17,500
TR 15,000 11,250
2,20,000| 2,68,750 2,20,000| 2,68,750
srferfam g

9 H T 50,000 J&IF Hod & A H fasa T 2,000 H @ W HA T q@4 WaA W
% 4,000 T HeF BTH AT T4 |

From the following Balance Sheets of Sonam Ltd as on 31-3-2010 and 31-3-2011
prepare a Cash Flow Statement :

Liai)ilities 31-3-2010| 31-3-2011 P 31-3-2010| 31-3-2011
4 T L4 ¢
Equity Share Patents 12,500 11,250
Capital . 1,00,000( 1,50,000|Building 1,50,000| 1,50,000
Profit & Loss Investments - 18,750
Account 25,000|  50,000|Debtors 50,000] 63,750
Bank Loan 50,000 25,000 Stock 2,500 3,750
"P'r'o'posed Dividend 20,000 - 15,000 | Cash 5,000 21,250
Provision for tax 10,000 17,500

Creditors 15,000 11,250 )

2,20,000| 2,68,750 2,20,000| 2,68,750

Additional Information :

During the year a Building having book value T 50,000 was sold at a loss of ¥ 2,000
and depreciation charged on Building was ¥ 4,000.
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PART -C
(Computerised Accounting)

(rfuemfers daisT)

17. P H Y=o HaTE i Hd Terdl Hl § 2 1
How does the usage of computers help the business 7

18. Terelt @t w5t Syeied Hie & W 3i% S 41 SAE € 2 1
What is meant by the first digit in the ‘code’ allotted to an ‘Account’ ?

19. # 31%a () 3G T8 2 | !
What is #Null Error ?
20. 3IfiyrieE EiT Giveaat & fohel diF Tefull St IRy | 3

Explain any three features of Computerized Accounting Software.

21. S UH UH 91 E 2 39E o[ O B GEE | 4
What is DBMS ? Explain its three advantages.

22. TR T H HHAME & S 96 0T FH & g )l % =1l w6 Afa | 4

Write the steps of a query to compute D.A. for employees in Microsoft Access.

23. (@) PAfafEd ga1 | a0 & A S T0E S F 6T TEd WG S e

HIfSTT | 2+4=6
% 12,000 & HoT 90T T 10% S T | T 12,000 T 31T Ht URT W 20% o T @
(T e 92 | weift)

@) qﬁa%wﬁﬁqmwmmwmﬁwmﬁﬁﬁmﬁ
IS =TT St TUAT % fow fopan S & it Tty = S e |
(a) Calculate the formula from the following information on Excel for computmg

the amount of conveyance allowance. Basic salary upto to ¥ 12,000, @ 10%,
for more than ¥ 12,000 @ 20%. (Basic salary is projected in C,)

(b) Name and explain the financial function of Excel which is used to calculate
accrued interest for a security that pays periodic interest.
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